
Vypoč́ıtejte divergenci div ~f(A) a rotaci rot ~f(A) funkce ~f v bodě A:

(1) ~f(x, y, z) =
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A = [9, 4, 1]

I div ~f(A) = − 73
6 ,

rot ~f(A) = (27, 28, 5)

(2) ~f(x, y, z) =
(
3x3yz, 2xy2z, xyz

)
, A = [−1, 2, 1] I div ~f(A) = 8 ,

rot ~f(A) = (7,−8, 11)

(3) ~f(x, y, z) = (sin(y + z), sin(x + z), sin(x + y)) ,
A = [0, π2 , 0]

I div ~f(A) = 0 ,

rot ~f(A) = (−1, 0, 1)
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,

A = [1,−3, 2]

I div ~f(A) = −8 ,

rot ~f(A) = (1, 3, 0)

(5) ~f(x, y, z) =
(

ex
2

, ey
2

, ez
2
)

, A = [1, 0, 1] I div ~f(A) = 4e ,

rot ~f(A) = (0, 0, 0)

(6) ~f(x, y, z) =
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)
, A = [1, 1, 1] I div ~f(A) = 0 ,

rot ~f(A) = (−2e,−2e,−2e)


